EFERS

FEHEOTHERERE TEF = HIRFEZ O REEZ MWL -

EXE

AR TR — BB A ] o MBS R R A W) 2 T SR A0 O RS R W RE 33
15 73 5h > 4 H 2 03 JUE RERE I SO 85 3R I RS

K

AEHBE FE HF A= HIEFEEZEHBR B 2H GGG WL -

EHGHERARBEAFEE ZRE -

AL 2 W3~ RS BB I AR AR T TR 2 5 B SR B R R RE 13

g A

4 g A 25 58 W % HE A 2 G A RE A 2 55 D A8 S O 3 23 -

AAEBERN > Ao A s AT AR BB 2 MRS ]~ AR o A T AR R 2 BT

fit i

AR B R A SR ] R AR ) 2 Al A A AR O S R B R 25 -

L AR



C

WA REEARE T ZHZANRIESES

PATHE S
FEBREE (EF)
PR LA (B L)
7 I e
FEELA

BT E P
TRk B ek

B3

RRABEA 2 7] 2 0 ) ARS8 T10(A)V IR KR S - 4% S 3 4 S 2% I 26 50 I BV B2 A1 2 Je sl
ERG AR SR (BT -

AL F AT AT O AR PE AR 20 W) 2 R A S e R R AT 1R 2 I o

2 IR AR

PREL L RFEIESECRARAGT L MRS > i — A FE=H — HEq -
S T AR AE AR I i o AR A A AT MR DT R B D =R A R N 55 — T5 LA IR B &

w

B b SCRT 4R & Ah - $hE Y R HE SR AT 2 B R A R b 8 AT 2 T I A LA 0 ] L Y
Ji&§ 7 W RT SEAE AR A S B A — 4F A A A GO R ER AL BIASBE T LLAS LR 2 IRES 5 4 -

AR AR A A



EFERS

IR T BT BN B KA HE A

ACERFTEZH = H o BRAL AR R (A BARELR) e d] (720 B HE 45 e 1) 5629
BRETURFZELAMITR  FEELRTEETEABREEZBHEALHFAALFZ
JBe 13 HE 4 B0 T

ot 5 e ¥
8 A HE 2 oAb RERR (W)
= ERE A - 1,637,480,000/%
SR — 1,637,480,000%
2 e S A - 1,637,480,000%
A S 56,200,000/ 1,637,480,000%

Bitat - FEREA - FREL L FEIREA KA E LA S R Rayten Limited 24,300/ ~ 22,500
B~ 21,6008% B 21,6008% B¢ 173 > 43 Al {li Rayten Limited 2 B8 17 BE A 2 27% ~ 25% ~ 24% M 24% > T
Rayten Limited Il # 4% /A 7] 1,637,480,000/8% 45 % T8 {E 0.01¥#5 7€ 2 B 14 ©

B b SO B A Ah > R AT BN B e A B N S A A R O T B A
Al G 3% S 2x B HE 25 10 1) AT ) 28 0% 2 R4

Jilk Joé B it 3
REEA N R — UILEFE = = H TR 2 W BERE R &1 (TRt 8)) - AR REF IR T
AR R AT A A Ja 28 W 2 AT e AT B o R B BORE T R (R AR RS A AR Y ] B

THT L B 7 B R 432 o M JEAE 22 i 1 52 5 AR 2 ] JBE A3 A B 52 i 2 ~F- B WA {8 80% - f5 4% T
FH B EEREAL AR > EBH &2 AR AR N AR AT AR 2 10% ©

L AR



Jiit JBE it 2 — A

R s MR 6 2 BR 432 41 B 28 H R TE SO 1 T AR T LASRAR - I AT el A HO 2 R EH R R
TAERATE

AT AT — % B A] 3% T 2 B HE S K 2 B0y B H BRI S 7568 38 4R 0 52 s ) Fr 432 16 s 4
Wk 2 BB H BB 2 25% °

REEFE A=A = BREER > WARA TR BT 2 M BORESR  sgAT -
T R TEE A H o T BT MR B T S R AR T E

FEFE—HZHE FEF+ 2 H =1+ — H INAL AT 5 [ LA 80,1633 70 58 15 3,000,000 A< 2
A AEO.I0M L2 By > R#E —“FF HF =] =1+ —HILFERXNKE -

%

St B R AN > AR O AT AT B 2 AR R A AR A R A A AT R (] AT A2 AT AT 22 B i
JEWN > AR T ZEH K ERATEN B AR A R S At 5 N R R 2 B B A
FRMMAG 4R - KA 3 K ERAT BN B S5 2 B0 8 /R LR 2 7 Lo B AT e ) R A

2% ) S 2 ) RS A AR AF BE AT AT AT 5% S5 R o

>
N

EX ¥

M bR ARE TEREAMEE BB AL MR R BT - E=H=+—H  #H
R 95 2% BHME 25 W6 0] 28 Lo( IR IR € T LR AT 2 B rt s > AN A R E BTG AL F B
BEAT AR 10%EE DL 2 HE 25 -

B 6 I H A

AR T 22 FAR B BT 5 3 ) R SI AT R ZE % LU 9 ) B AT B R AR R A 2 B o U R
ZHRUE ©

AR AR A A



T A1 g £ E <1 B

ARFAIRBE FFAFH =B ZFEER ~HEBETHEBEGZ S A RA FESR
T R SRR B 1497 S 2 T e R SR

B Y i

A BT o BBy it AT < GRS I A A ) 2 IR AR B o

EHTAEL

wi o EFEHF LA AAH

L AR



